Name of the Trade : Draughtsman Mechanical 2nd Sem - NSQF - Module 1 - Fastners- Temperory (Screw 15 reads)

# Questions Opt A Opt B Opt C Opt D Questions Opt A Opt B Opt C Opt D Ans | Level

1|What is the inner most part of screw thread? Lead Pitch Crest Root Tf U3 T 9 HaT 3T Pled ATE? EIE o s &< D 1

2|Where eye bolts are used? Transmission of | Locking devices Lifting and Absorbing shocks |31 See &l 39T Fgl AT ST 672 i} & CTHAAA | CUETIEEIES mﬂgﬁ?ﬁﬁr =Tcah 3R I Hegel | C 1

power transporting heavy | and vibrations faferear 3k HT F
machines [ARI DR

3[Which thread the flanks are perpendicular to the V- threads Square threads B.A. thread Metric thread  [alsT |1 U8 H Feleh I3 I G & olaad V U3 TFIRR U3 B.A. U5 Hfch o3 B 1
axis of the thread? gl g ?

4|What is the angle of British association thread? 60° 50° 47.5° 45° Tfeer vafaware 935 1 FroT F1 8?2 60° 50° 47.5° 45° C 1

5|The largest diameter of a straight external and Outside diameter | Inside diameter | Major diameter | Minor diameter |Ueh Tgc T 3R STl TF IS HT 3T3cHTSS ST IS T AR a1 AR C 1
internal screw thread... ey ST FATE ?

6|The distance from a point on one thread to the Lead Pitch Travel Gap T 98 J Teh Uisc F 3Tl IS g e ad EiE] B 1
corresponding point on the next thread ? HINEAISIT GIST deh ol g3l ol geld g ?

7|Two ways to measure pitch of screw threads... With a plain With dividers and |With divider and a |With a screw pitch [ 98 &1 Td I AT & T alih? T A1C ASHIARY | [3aBEs iR TE |RBap3iRTede (g Raasasik | D 1

micrometerand a | a micrometer plain micrometer | gauge and a rule IRF AT | AFHARF AT | AFHHS F Ay Teh &l o A1
screw pitch gauge & |

8[Which 1SO metric threads commonly used on Coarse pitch Fine pitch Constant pitch Variable pitch  |3THdIR 9 HfeHh BRECR W P I ISO Fg T FrET O FEee O aRUe O A 1
metric fasteners? #Hifew U3 1 3YFET foRT ST §2

9|Which screw thread has 29°? ISO metric thread | Unified thread Acme thread Pipe thread  |fohd &% U5 H 29 ° §? ISO #Hifewh U5 FADISS U3 THha o3 189 U8 C 1

10[How are ISO metric thread designated on working | With the letters | With the letter L | With the letter M | With the letter m [F& afehaT 37591 I ITSTH3N Fifgeh I ISO ofeX & a1y 37ER L & arg 3R M F a1y 37&R m & a1y C 1
drawing? ISO afAagarg?
11|What is the outer most part of screw thread? Crest Flank Root Pitch T, I3 T Y 16l AT FAT 67 FHET Foldh T o= A 1




12|Which of the following has threads at both ends? Hexagonal Bolt Eye bolt Stud Square bolt  |FTTeIE & fhdeh el BRI X I3 SFAMENT Sloe 37T Slee s TFIRR dioe
g 82
13|What is the angle of metric thread? 45° 47.5° 55° 60° ARF s FT AT FATE? 45° 47.5° 55° 60°
14|Which part is used to tighten a bolt and nut joint Rivet Cotter pin Washer Key Thd T8 &l JahaTe 9g T &1 diec Rac FreX AT anR $r
without damaging the work being joined? 3R 3T & SIS A HAA & [T 3gIET
TRaT AT £7
15|Which device is used to hold two or more parts? Fastener Screw thread Key Helix Tohe 39T 1 3UZNT & a1 & | 31 HREER T 93 @S Hr gfoera
series AT T Yehsay & ToIT o STar 872
16|Why are the self tapping screws used? They are To make doors | These screws are Self tapping  [F9-CTU9T T T 3UANT T [FAT AT 82 | d HoR THA A eXarel AR Bl | AT, il 1 GR&T | T9-CA9T Tf AR
designed to cut and furniture made is protect | screws are used 379 TG & U5 ATl & forT g T I ST & forw &t
their own threads the nail to go over weaker gled &l reat & fau 3T AT ST §
holes in hard screws IESIEGRE QY S
materials
17|Which one of these fastener is used to prevent Bolt Set screw Stud Cap screw (3o BRECR H U TohEdHI 39T &1 HEN & drec AT TR s T TF
rotation between two parts? & YA T AUdhed o frT fomaT ST §2
18|Which is the smallest diameter of a screw thread? | Internal thread Minor diameter Major meter External thread [T T 93 T T4 OICT ST Hied ATg? | el I3 a1 ATER a1 AR AeX TFHCAd 93 eI
diameter diameter
19|What is the width of the Hexagonal nut? 1.2d + 3mm 2d + 3mm 1.5d + 3mm 1.5d+8mm [gFATINTd Ac ST AISTS FATE? 1.2d + 3mm 2d + 3mm 1.5d + 3mm 1.5d + 8mm




Name of the Trade : Draughtsman Mechanical 2nd Sem - NSQF - Module 2 - Fastners - Permanent (Welded Joints)

# Questions Opt A Opt B Opt C Opt D Questions Opt A Opt B Opt C Opt D Ans | Level

1|Which of the following ray is not produced Gamma rays Visible light rays Infra red rays Ultra violet rays  [ae3T & &Rl fela=TTelicl & & ahleT &Y AT foRoT CISERKGIECAE i Zo3hT 33 faRomt QRIeaTeT fhRToT A 1
during welding? ToRYOT 3cTeeT 78T BlaT &7

2|Which of the following joint have high corrosion Welding joint Riveted joint Bolted joint Cotter joint  [f=Toif&d & ¥ fhas 3 @&ROT dTesdT Slise Rde tisc dlec Slisc I SNSC A 1
resistance? gfaRIer grar g?

3|Which one is oldest type of welding? Forge welding Arc welding Resistance Oxy-fuel welding [3feS3T T Fe G TR et AT 272 HIol AT 31Tk Afesar ISrEey afesdT ST afesdT | A 1

welding

4|Which type of joint is used if plate thickness is | Single v butt weld | Single u butt weld | Square butt weld | Double u butt weld [fh& TR & SIS T 3YTIT ThAT ST & TQ9TeT dT 9 dos Tl g 9T de3 TFARR d¢ dos 39l J 9¢ dos [ 1
less then 5mm? I e H Al 5 AN A FAE 2

5|Which of the following is an example of fusion Arc welding Forge welding Resistance Thermit welding  |[AFTaITRT H & SleT Tl dTo89T T Th 3Teh afesdT HIoT 3fesdT darecy afesar gaTa & ATy UfAT A 1
welding? welding with pressure  |[3&TeX0T &2 gfegar

6|What is denoted by the weld symbol? Double sided Fillet | Double bevel Butt | Double V-Butt joint| Single sided Fillet [deg Iciteh GaRT T GRITAT 31T £7? S9cl UaTIT Ifeshl | STl dad dc Slige | 3ol dl-a¢ HYFd | Thel T8I Tciee A 1

joint joint joint gFS qgFd

7|What is the sheet thickness of single v and up to 10 mm 5to 15 mm 10 to 20 mm 15t0 25 mm  [R&eTer v 3R [&eTer u 9 Jesd Fr 2fic up to 10 mm 5to 15 mm 10 to 20 mm 15 to 25 mm B 1
single u butt welds? HieTs FaT 8?2

8|What is the plates thickness of double v and 1-5mm 5-10 mm 10-15 mm more than 15 mm [g&cl v 31X S9cT u S de3d I Telc T 1-5mm 5-10 mm 10-15 mm more than 15 mm D 1
double u butt welds? Hes Far

9[Which of the following is an example of plastic Gas welding Arc welding Forge welding | Thermite welding |fe=1Taif@d & & a1 ceniEes dfes &I 3 afegar 31Tk Afesar Hrol dfesar yfFc afesar C 1
welding? Ueh 3ETgI0T &7

10|Which welding process is used for welding of Shield metal arc | Gas tungsten arc | Thermite welding Resistance Me T 31 1 Afesar & fav fory dfeser efres Ao 3h 3 o ge 3h gfHT dfesd oy dfesar D 1

sheet metals? welding welding welding gfshaT ST 39TeT Rt SITAT 872 afesar afesar




Name of the Trade :

Draughtsman Mechanical 2nd Sem - NSQF - Module 3 - Fastners - Temperory (Keys & Cotter Joints)

# Questions Opt A OptB OptC Opt D Questions Opt A Opt B OptC Opt D Ans Level
1[Which type of key is rectangular cross- Taper keys Woodruff keys Peg key Dove tail key  |/F8 SR &1 T 7 IFcIoR Hia- SR Fr T T a1 I zq ol I A 1
section? [T BT 87
2|Which type of key is a taper key with a square Gib-head key Feather key Cone key Peg key T TR T T ,Ueh THFARK &8 o a1 [EEECE hex hr Pl T a1 hr A 1
head? T T Hrg?
3|Which key type has semi-circular shape? Square key Gib head key Round key Wood ruff key [fFT TR &1 T A AUFATHR 3ThTd TFARR Foll SagsHhr BEEED] I HT D 1
g2
4[A small piece of metal partially fitted into a Key Pitch Stud Screw thread series gm T Uhel & [T Teh ATFE 3R &9 Fr [EE] s T 95 O A 1
shaft and hub to prevent rotation... 3R §9 § YT T Teh BICT ZehsT
e forar SITaT 872
5|Which type of forces are act on shaft? Compressive Tensile Shear Angular UTFE TR TR JhR o ol 572 AT [ SIEGT [ERE FIofig C 1
6|What is the main advantage of shank key? Positive drive Negative drive Neutral drive Reverse drive |27 T ol F&A o1 FAT 872 qifoifed a18d #dIfed g3d JeEy 313d R gr39 A 1
7|Which type of joint is used to connect square Welded joint Riveted joint Cotter joint Bolted nut joint g1 AT IR AMFE T Siga oh foIw Jdoss Slse Ydcs Sise I Slsc drec oc Slisc [® 1
or rectangular bar? R YR & Sifge T 3TAT fhar Srar
g2
8|Which type of motions are the cotter joints Rotary Reciprocating Angular Circular 1T SAIST T STATIT Tohd TR hT e IR TeaT HoNT TG oR B 1
used? Ffaat & forw forar Srarg?
9|What is the shape of taper in the cotter joint? One side of the Bolt sides of the One side of the Bolt sides of the |l Silse H TR FATE? TS HI Th ASS | ISIS & GleAl NP AR HITH RHA | ACS FIGATRE | A 1
width width thickness thickness
10{What is the another name of circlips? Collar pins Set collars Retaining rings Splined rings  |RATFercH a1 gERT o1 &1 52 HIoR T [T HIoR Refae Rew Tl R7q C 1




Name of the Trade

: Draughtsman Mechanical 2nd Sem - NSQF - Module 4 - Pipe Joints

# Questions Opt A Opt B OptC Opt D Questions Opt A Opt B OptC Opt D Ans Level

1|Which one is used in manufactured C.1. Grey cast iron White castiron | Malleable castiron | Ductile Castiron [&V.31S. 989 & AT & fhaerT 39T I FIEC 3T qIST PIEC R | HoN3Tedl PIRC Shelsdl FIRC A 1
pipes? RaT ST 2 3TRA 3R

2|Galvanized pipes are steel or iron pipes zZinc Lead Copper Aluminium IeaelIgss UIsy , TS AT &l1g o I139 & it SEd EIE GIEN TegHIHAIA A 1
coated with......o.o... L, IR GRS

3[In piping layout generally pipes are connected Pressure Pipe fittings Sliding connectors Self-locking qTS{AIT AT H A AR TR 9139 gara qreq fRfear TATSTSIT Fhoddecd | Aoh-clllhdl dhaldeX | B 1
with connectors Ag3ed 8

4|Which fitting connects two pipes places at 90° elbow 45° elbow lateral fitting 90° connector  [aleT AT fHhicaT , T ITSYT T Teh G@x I 90 ° Uesl 45 ° Toal Echrard 90 ° FeiFeX A 1
right angle to each other? HHPIOT ) SAISAT 872

5|What is the angle of "return bend" fitting ? 360° 180° 90° 45° "Reat 95" TRIEaT T 1T T 52 360° 180° 90° 45° B 1

6|Which type of pipe is commonly used for Wrought iron or PVC or steel Steel or wrought Copper or PVC  [dTell, #IT9, del 31 & oI AT d: fha UC IR AT HIR | GG I TS | T ATINC IR | hI9R 1 Grarar C 1
water, steam, oil gas? copper iron YR & YISY T ST ThAT ST &2

7|What is the process to fasten pipes together Forging Riveting Welding Casting qrsq TRt o 39ANeT o =TT Tah AT q189 ST Rafear afesar HITECIT C 1
without the use of pipe fittings? I SThseT T 3T FfehaT T §72

8|Which type of pipe fitting allows the contents Return bend Elbow Lateral Cross TS JehR T GTST TOhTEaT &1 TTguT ohT HTHAT ReT a5 Todl Erec Hra C 1
of two pipes to flow together into one pipe? I Teh 1S H Teh AT Y18 e 1 AT

& g?
9|Which type of fittings is used in PVC pipes? Use of threaded Use of soldered Installation of Applying an Y 129 H TR YRR hr et &r U2z Whidar ot AresT ThicaT 1 EARECED T F9ehet arell D 1
fittings fittings friction-type fitting adhesive 39T AT ST 82 39T 39T TR T STcTerereT FIAT
10|What type of material is used to make PVC Steel Plastic Copper Clay AT 9189 &1l & TolT [hd TR T P CATECHh GIEN Fol B 1

pipes? HIHAT ST 39T fRAT SATAT 82




Name of the Trade : Draughtsman Mechanical 2nd Sem - NSQF - Module 5 - Fastners - Permanent (Revited Joints)

# Questions Opt A Opt B Opt C OptD Questions Opt A OptB OptC OptD Ans Level
1|Which of the following is not a part of a rivet? Head Shank Tail Thread fArfa@a A il T Re o1 Bear g3 ElED [l 93 D 1
STRr g7
2|What is the main object of caulking in riveted |Free from corrosion | Stronger in tension | Free from stresses Leak- proof Rats Sgc & FifehaT o H&I 3682 &1ToT § HFd A H AT H  Jad e YH D 1
joints? FATR?
3|When riveted joints may not fail during its Tearing Shearing Bending Crushing e RS ST 39T AaT Sfidet & GRTeT SRaT e dTeadT ShTRTaT C 1
service life? Aol 57T &Y Gahar §7
4|What is the diameter of rivet hole in Equal to Less than More than Double A< & AfATel AT & WY JofaT1 H EriCey A STer EEE C 1
comparing with nominal diameter of rivet? e gl T =g F47 g1am?
5|What is the formula of Unwin's? d=t d=1.6+t d=2t d =6t 3feaet (Unwin's) 3T Bl &1 52 d=t d=1.6t d=2t d =6t D 1
6|The strength of a rivet joint is equal to... Tearing strength of | Shearing strength | Crushing strength |Least of P, P, and |ter Rae Siige & drepd Clc HI AT arehd | Rac HriRaker | Rac i wieer deea | @<, drog, dar & D 1
plate (p) of rivet (ps) of rivet(p,) Pe e % ST g- (Ci) GIEGECIED] () He
7|"When rivet is specified as a 20 mm rivet " Shank diameter is | Head diameteris |Total length is 20 Tail diameter  ["sia Rde & 20 A R F T H 2 o a1 20 fAAY |83 F1 e 20 T & Stec g3 3R &9 &1 T &7 ST A 1
what does it mean? 20 mm 20 mm mm Afese forar Srar § Y 5T Fa1 Ades 3 =g 20 TRHAT§
g2
8|Which type of rivet head is used in boiler Snap head Pan head Countersunk head Conical head [STTeR talcl & [T 9o & Rac g5 &1 =ugs Iags FI3cI-AH g3 Fifrd &3 A 1
plates? 39T AT ST §2




Name of the Trade : Draughtsman Mechanical 2nd Sem - NSQF - Module 6 - Basic knowledge of - Fitter,Turner,Machnist,Welder,Sheetmetal

# Questions Opt A Opt B OptC OptD Questions Opt A OptB OptC OptD Ans Level
1|Which type of operation is engaged to enlarging Drilling Reaming Boring Counter sinking  |fh8 YR & 3R T O, Pl 6T 3ferer Qi T Fr3e} fafdher C 1
a hole ? IGLACTIRCIG I
2|Which machining operation can be done on Turning Taper turning Gear cutting Grinding TATRT 7AW TR Pl AT ALMTTT TR efetar TR &heler TR & BIEEDl [® 1
milling machine? T ST GehaT §2
3|Which of the following machines is superior to Lathe Drilling machine Shaper Milling machine |fee=ITaT@&d & & ieT T HMeT Fehell oYy T3feier 7ol IR AT JRfT D 1
other machines as regards accuracy and better 3R IR T fhferer & Gty & 31w
surface finish? AMT T | E
4|When milling a part of square or hexagons, Angle and face | Half side and side Side and end Angle and side  |TRTIT FMeT T TFaaR T gFARNH TITe 3R 6 fAfST | g6 A1g3 3R @15 | WSS 3R TS MAfeler T 3R 183 C 1
which two cutters will you most often use? milling cutter milling cutter milling cutters milling cutter | TATeIaT X T, 3T leT A 2T e FX AT Fex Ty [GIGEI X
YT FHYE?
5[Which type of mechanism is used in shaper Indexing Four-bar chain Quick return Three -bar AR FANA F ThT ThR & Hehfolod ol fFger AblasH BR §R T s Ret N-IR AhlAsa [® 1
machine? mechanism mechanism mechanism mechanism 39T fohaT STaT 872
6|What is the other name of down milling? Conventional Face milling End milling Climb milling  [3T3eT TRTCIRT &1 GERT ATH FAT 872 Feaeled AT & At us fAferer FolTSd (ATl D 1
milling
7|Which of the following parts of slotting machine Base Column Cross rail Table Tatredr A & AT d AR &7 3 Er) EOC e e I o D 1
holds and supports the work piece? FieT AT HIET HTF WUS BT ThsdT IR
HAE AT &
8|Which among the following sheet metal joints is Lap joint Dovetail joint Hinged joint Double grooved |=1Toif&d SET & & ShieT AT kT HIA o ST 9c Slisc &7 Siise g9l A THA JlSC D 1
suitable for roofing work? seam joint & forw 3ugEFa g
9|What is the use of bent snip? Removing the burr | Making holes on | Bending the edge | Cutting the sheet [dc &9 &1 3T=eT FaT §? TP Y BT AT R TG, TaATell SfesaT Hd ST 3 are efie D 1
the sheet along curve lines I SICT
10[{Which one is used to made mallet? Lead Brass Hard wood Cast iron Tole 91 & Torw orgerr 39A1eT foham EIE 9rdol g g3 FTEEC AT C 1
ST 87
11|What is the main reason for using aluminium Lightness Brightness Dullness Darkness e &g & 1A A TegATATA e Fr Eodhl glaT THb Solold BhT A 1
sheet in sheet metal work? 3T Y T HET HROT FT 572
12|Which notches is used when making a job with Square notch V- notch Wired notch Slant notch 90 ° AIS F TTY SN oIl THT PleT T TFARR A - s A Tolc AT B 1
90° bend? siter T 39T fohT ATAT &
13|{How sheet metal work is carried out on metal Forged Cast Rolled Taped Aca fic W ofie Aca FI Fa fHar LoE] FIEC ez g C 1

sheets?

ST 872




14]|Which tool is used for flattering the metal around | Bal peen hammer | Riveting hammer | Seeting hammer | Sledge hammer [f&fd 8¢ & TR 3R &Tq HT FelcReT & et Uil g Rac g T g Tolol goR
punched hole? oI fohe 3USROT T 3TIJT fohaT SITAT 82
15|What is the lancing operation? Removed of metal [Bending a sheet of | Cutting a sheet of | Cutting a sheet of [ITRaT 3O FAT &2 YT I IS HTHR | s TFHH o Y | FHhT TS & YT & |eIaTS & A1 Teh el
is the desired metal along a metal part of its | metal in a straight AT H FIRA | AcafuwMew | REAH v de @1 A o1 1 v
shape from the curved axis length and bend line along the g CEETY FICHT FIC T FEA efie sreaTT
edge of a plate the cut portion length FrATS
16|Which instrument is used to draw long arcs and Pointer Compass Trammel Arc scriber TR I T 3TN o 315hT AT TR T qigex FUTH CTHdl discd 37Tk TSR
circles? FI Taa & fo fomar srar g2
17|Which flame is suitable for welding of high Oxidising flame | Carburising flame Neutral flame Electrode flame [€ETel T afeser & forw @it &Y off 39gad 3TFHIRRS ot FIYUS IS FoIH el Fold EREERTE
carbon steel? ¥
18|{Which flame is suitable for welding ferrous Oxiding flame | Carburising flame Neutral flame Electrode flame [eflg &1, dTeT 3R Teg fATaa# fas g 3TFAFRRSE dt FIYUS ST FIH ol FlH SolFCIS Fold
metals, copper and aluminium alloy? &1 afesar & faw Hler &Y ot 3ugFa8?
19|Which flame is suitable for cutting operation? Oxiding flame | Carburising flame Neutral flame Electrode flame [&7e3T 3ToRere & foIT Siet Y ol 39gaFd 3TFHIRRS ot FIYUS IS FoIH gl FolH SolFIs Fald
g2
20{What temperature of arc in arc welding? 2000° C 2600° C 3000° C 3600° C 3T Qe H 3T T dTIATT FIT 272 2000° C 2600° C 3000° C 3600° C
21|What is the cope in foundry practice? Bottom half of Top half of Middle half of the | Coating onthe [wI32! dfeFecd & I gl ¢ ? Afcgaraieq s | SIFaeT I MY ITEN | AfeseT dierd & ALT | Ales hd U HitedT
moulding box soulding box moulding box mould face IGECIEIL e
22|Why cores are used in moulds to make? Symmetrical Hollow Strong Smooth FT ToATe] S [T T H Foldl T STIT AR grelr TS Y
forar sirar &2
23|Which grains in moulding sand is of high Coarse grains Fine grains Round grains Medium grains  |Afeger I & HieT AT 37T 3°d H I FISe JeT REEDTH Azgwm 9
permeability ? IREFIAT &I 52
24|What is the main constituent of moulding sand? Carbon Graphite Clay Silica HITeSIT U 1 T T FT 52 FleeT @rar BECIRE aferer
25|How shrinkage allowance in moulding is made? | Adding to external | Subtracting from | Subtracting from Difference of  [MTesaT A AdhdhaT T3 Hd TATIT STEN IR AMARS | S AU AHR | &l AR IFEARE | ST 3R 31 e
and internal external and external and dimension ST g? SBHAY Hl SISl | 3RS AT H I A gerer | & ST 3T T 37T
dimensions adding to internal [internal dimensions [between cavity and CIECH)
dimensions solidified part
26|Why are the feeller gauges are used for Thickness of plates Clearance Pitch of screw | Radius of curvature |[thTeR 31T &l T AT & o7 3917 Tolel I Al ATEIT UTCH & el & 95 & o FaR F1 I3
measuring? between mating threads TohaT ST £ Follay T
parts
27|What is the lip clearance angle of a drill? 3°to 5° 8°to 12° 12°to 20° 15° to 20° T T3l o ToIT Fellad UITel T 82 3°to 5° 8°to 12° 12° to 20° 15° to 20°




28|Which type of instrument is used to measure the | Depth micrometer | Inside micrometer |Outside micrometer| Tube micrometer |&¢ % SO ! AU & 01T [hd YR 3T FATShIATET SATSS ATSHIACY | HT3THISS ATSHIACT | Y& ATSHIAC
diameter of a hole? 3YEIOT T ITANET Fh3AT ST §72

29|What is the material of try-square Cast iron Mild steel Hardened steel Brass TS THFATIRX T ATAIY FAT 82 FIEC TIA HASes el HEC R drdel

30|While drilling the gets overheated, this is due to? | More lip clearance | Less cutting angle |Material being hard | Excessive cutting |37aies 3ieier 3NaR 85 81 ST & ,3HT | 3118k [T FlRT | e Icst I PIOT AT AT w|T & 3TCATYSH FHIea T

angle pressure SHIOT BT &7 YT o g
31[How does the files grade is determined? Teeth space Cross-section Width Lengths HIS A3l TR AT SATdT 52 AP Er] AT IEY T BIEE EESIE
32|What is the use of die stock? Hold the work piece|  Hold the die Make internal Make external  |3TS TcIdh ol 3T FT &7 g [OF &l Ihs 315 & s 3RS U TA EIRUPEERID]
threads threads
33[Which chisel is used to cut keyways? Flat chisel Cross cut chisel | Round nose chisel | Diamond point (TR =it T 39T HI-3H FIce & [T ol Tl I e el 38 el Bl STIHS ISC Bell
chisel o ST 87

34|Which type of tool has a sharp metal point for Scriber Centre punch File Cold chisel TR Jeh & STRTUT # &1 TR 37ehel THIBR AU 9 BB Fles Sell
marking on metal? T ek It Aed arse glar 82

35|What is the angle point of centre punch? 30° 45° 60° 90° QU I & 9IS TITel FIT &2 30° 45° 60° 90°

36[In which operation motion of the job is rotary and Turning Planning Milling Shaping R 3OS & Siie T 31T AT & AR Zfetar TATelaT aforer Afdar
motion of cutting tool is forward translating? el & 3YSOT T T 3TN & 3eJarg

T g?

37|Which of the following operation cannot be Facing Drilling Thread cutting Slotting AT & & leT T 3TARLAA Teh oY ST 3forer U3 i Tl
performed on a lathe? TR ALY [T ST GehaT §2

38|Which type of threads in lathe lead screw? Single start Double start Triple start Multi start oY & oS TR H [5d TR & IS 8 o2 qaTel T EECEar feuer TeIC Aol TT

39|Which type of operation can be performed by Machined two or Machined by  [Machined by single | Machined by gear [¥¢s fATeleT gaRT fohd TR & 3TIXerT AMAEd ar ar FEATLR e GIRT | Tehel e EaRT fohdT |19 e ganT fahar
straddle milling? more surfaces vertical cutter cutter cutter T YT TR ST GehdT &2 3778 gag Fffer EIE2 T

40|Which one is removed after holding the job in Safety guard Cutting tool Chuck key Metal chips  [ld oI 5311 Xl T UGl folahlell ST AwT IS Hiea g T T & few
lathe ? g2

41 (Lathe tool has front clearance angle of 8° and 67° 75° 82° 33° TS, 3YSUT I he FollII HIUT 8 ° 67° 75° 82° 33°

back rake angle of 15° what is its wedge angle?

3R S Y& AT 15 ° §, 3THT AT TITeT
FATE?




42|Which of these operations cannot be done on Punching Turning Drilling Cutting ST  hled-AT UL o2 IR AT [T Siept efetar faferar Hiear
the lathe? ST HHdT 5?2

43[Which type of chuck is used on lathe to hold Universal chuck [ Independent chuck| Four jaw chuck Two-Jaw chuck |[HET H &IH & gehs &l W & T [hd gfasd T TqdT I IR SI9ST I &I-S1asT 9
work piece at centre? YR & T T 3TATIT o T Toh T ST

g2

44|What type of cutting tools wide application on Single-point Multi-point Both single point Two-point oY 9T Tohd TR o Hicdl god I ATIH qaTer aige Hedl UIse el [T gige 3R g urse
lathes? and multi point HATITEIAT §? HAcdI gisT

45|Why are the mandrels use to hold lathe? Cutting tools Hollow works Face plates Drill bits Y X FAT Y3 o ToIT Hegel Tl HieaT el glell g 9 T Tolchd 3o faca

pieces ST fRaT ST g
46|Which type of operation done by lathe for Facing Knurling Tapering Threading SIS e U IR el o ol TG AT Aforar ST afSar

preparing diamond cut patterns on surface?

SaRT fhd YR T HaTeled fohdT STdT 872




Name of the Trade : Draughtsman Mechanical 2nd Sem - NSQF - Module 7 - Basic Knowledge of - Electrician, MMV

# Questions Opt A OptB OptC Opt D Questions Opt A Opt B OptC Opt D Ans Level
1|What is the unit of energy? Volt Ampere Joule Ohm Soll &l ShTS FAT 62 drec TFRR EG A C 1
2|Electrical potential difference is measured by Voltmeter Ammeter Galvanometer Energy meter  |fdegd @emmiad 31} CaRT AT eret @ T FIeTel TRt A 1
ST g
3|Which one is the correct equation for ohm's W =Fd V=1IR R=IV P E =mgh 3N & [T & foIT i a1 TET THHIOT W = Fd V=IR R=IV P E =mgh B 1
law? 2
4|What is the unit of electric charge? Coulomb Joule Volt Watt Slded dTel I TS FAT 57 EGI EG dec are A 1
5|What is the speed of d.c. motor related ? Directly Directly Always constant Inversely e TS & 31 A1 Y 1T FAT§? A9 vaE & v | O19 STATH & [T & =R Forard 3R s D 1
proportional to flux | proportional to proportional to EIGEIRED KIIGEIRED SUATS & 3cUIG, &
back emf product of flux and [EENGEIGCIRED
back emf
6(Which motor is used for centrifugal pumps? Shunt motor Series motor Bolts shunt and Compound motor [A=<IF3Tel TF9T & Tl Tohd He T gre Al RIS Al diee 2e 3R IR FUT38 Al A 1
series motor 39T T SITaT §7 A
7|Which enters in the cylinder of a S.I. engine? Petrol Air Mixture of petrol Gas T UgTel & [ATeIsT & FAT YT T & qerel ag qgiel 3T arg 1 T C 1
and air IGE
8[Which type of ignition occurs in the diesel Compression Spark ignition Air ignition Diesel ignition  |3TsTel SoTeT T SE+1AT FAT £? FFYAT 31T T 312 TR ST BroTel 3i9aTereT A 1
engine? ignition
9|What is the use of fly wheel? Air pumping Petrol pumping Storage energy Diesel pumping  |FelTS SgTel &7 3UTTT T 52 arg qq el Yelef gfder BT Fail BroTel gTaaT C 1
10|What is the material of cylinder? Aluminium Copper Cast iron Brass Aozt Fr ameel F a1 6?2 TG HTATA GIEN FIEC 3T Ao C 1




Name of the Trade : Draughtsman Mechanical 2nd Sem - NSQF - Module 8 - Construct - Tolerance,Limit,Fit

# Questions Opt A Opt B Opt C Opt D Questions Opt A Opt B Opt C Opt D Ans Level
1|What is the deference between maximum Clearance Allowance Tolerance Limit TehcTH R TG ATH 3TRR o s FolrIyd 33 ered fafae C 1
and minimum limit of sizes? IR FATE?
2|What is bilateral tolerance? Upper side of the | Lower side of the | Equalto the basic | Both sides of the |STS-oleXdT TR T 872 A HTHR T FH | 7 HTHR F el | FHel HTHR & Pl Th | FHel AR & alll D 1
basic size basic size size basic size TP TP assa
3|When tolerance is given one side of the basic | Tolerance system | Allowance system | Unilateral tolerance | Bilateral tolerance |ST& TeRd & ST&® STIALT & Teh cTeRy AEeH 33T e qﬁ-ﬂcm e STS-olell cloRd C 1
dimension, it is called T AT ST g, A SH FET ST &
4|What is hole basis system? The size of the shaft | The size of the hole Permissible Allowance is given |[gel 98 O&ecH FaT8? QITFE 3T TR [EUX | gTel 1 3TehR R & | BIeT I AMFE W | 37el13H hael glel TR B 1
is constant is constant tolerance is given only on the hole g gfFgee eferky T AT STar g
the hole and shaft arar
5|What is the British standard limit system 21 classes of fits 12 classes of fits 16 classes of fits | 61 classes fits and [fsfeer Tvss ot Reea Fa18? fhe 121 Far®@ | fhe A 12 Feraq | e &1 16 Foarad | fihe 1 61 Feray A 1
consists? and 16 grades of | and 61 grades of | and 21 grades of 12 grades of dIRCTaT@H 16 I3 | AR TeRTAH 61 I3 | iR cTRTF 21 I3 | IR cTaR@H 12 I8
tolerance tolerance tolerance tolerance
6|What is the numbers 7 and 9 indicated ina  |Tolerance grade Allowance system Accuracy of Bilateral tolerance  |ST&f CTeld ol Hel STAHT & Th &1 oy eeH 3rem3d ReeH Ao TheRE | FT3-0Iekel ol A 1
hole and shaft pair designated as 40 H7/d9 ? manufacture U&7 R AT SATAT &, AT 39 gl ST &
7|What is the best example of shrinkage fit? Cartrim on wooden | Tyreontherail [ Tyre onthe bicycle | Flywheel onthe |F3ehoT Thhe T TaH 30T 3GIGI0T FAT | olhal o RA GBI IR | Yo Bl TR | TT3Tohel RA WCRR | 2MMC R FeAT3-SaTel A 1
wheel wheel rim shaft &7 Frc A
8|What is the measured size of dimension of a Basic size Normal size Allowed size Actual size Udh T oh SIHLAT ST ATIT ITHR FT s gt AT T A 3R JrEdTdeh 3R D 1
component? g2
9|Where interchangeability is normally applied? | Repairing parts Mass production Single piece Limited piece 37T AR TR STTASISTIET el oL BIch | UTEH i FEAT 7 | &3 YA W 3cdieal | [Harel {9 Scdrea # | fofees 0y 3cures B 1
production production g7 H "
10|What is the best example of driving fit? Ball bearing on the | Tyre on the rail Pulley with key on Cartrimon the  |3TSTaeT e I Y BT 3TEX0T FAT | AMHC W il [9IRFT | ITFIA RS | MFC R A H AT | TIohsl & Tlgd I A 1
shaft wheel the shaft wooden wheel  |§ gelr ey &1 R




Name of the Trade : Draughtsman Mechanical 2nd Sem - NSQF - Module 9 - Construct - Couplings

# Questions Opt A Opt B OptC Opt D Questions Opt A OptB OptC Opt D Ans Level
1|Which of the following is a flexible coupling? Muff coupling Marine coupling Protected type Oldham coupling |f&=TaTET & & et AT Teh Felferaeer A YTl T FUTAIT | HICFCS 3T Felol | 3NeseH Huieldl D 1
flange coupling Fufelar g FYfelar
2|Which coupling is used to connect two perfectly Muff coupling Compression Flange coupling |Oldham coupling (2l qX/ g & TS ATFE I Sz & fow AP Tl FEIRAT FYTIIT TFolof U Tl FoloT YTl C 1
aligned shafts? coupling g HufoaT &1 39T fFam Sirar &7
3[Which is used to join flanges in flange coupling? Bolt and nuts Studs Head less taper Set screws TAehe g 31 foheART J7a1 A 15 Sarget diee iR AT s g8l R dlee AT TR A 1
bolt Fela g &1 39191 fhees forw fomam Siram 82
4|How sleeve or muff coupling is designed? Thin cylinder Thick cylinder Solid cylinder Hollow cylinder |[&l Tolld T A HUTGIT [3ollseT hdT 31T el elst HieT Reist o f&reisy @rell FAfelst D 1
g7
5|Which coupling is used in cloth industry? Plate coupling  [Claw coupling Solid cylinder | Slip type coupling [&#YsT 383137 H fhd &uTelar sl 3uFTeT Tl sy feldl Tolol hafordl o o=y &I 18T Y Teldr B 1
forar STar 872
6[Which devices are used in large coupling ? Socket and spigot Hub Rim Arms Pl TT 3YHOT 93 FUTSlIT & 3YAET hT | Fiche IR TN & R 3T A 1
ST g
7|Which coupling is used when the shafts are Slip type coupling | Universal coupling | Clamp coupling Plate coupling ~ [STdf 2ITFe SeAFE R & , 30 TG fohd | eI 2189 hdfeldl | FfAadiel Hufer Folq FHYTIT Tolc HYTeldT B 1
intersecting? FHYTeIaT T 3TN fHAT ST §2
8|In which coupling sleeves are used as clamp ? Clamp coupling Flange coupling | Slip type coupling | Split muff coupling |FFefa SqTeleT 3T GART #ATH FT §? Folq TAA FoloT YTl TTIT T189 YTl | TECele HE ShuToldl D 1
9(Which type of coupling, the hub is keyed to the Slip type coupling | Clamp coupling Flange coupling Plate coupling mwwgm, g9 313149 ATFE & eI 189 Shufeldl FolT YTl Tolol hafolal Tolc YTl C 1
driving shaft ? T AgcaquTe?
10|Where universal coupling is used ? Used for collinear Used for non- Used only the Flexible shafts [ feIadiel UTcIeT gl ITATIT [hAT SATAT 52 | Pl AT &h | aAleI-lel e ol SEIHT FlTFHe o 2ATFEC B 1
shafts collinear shafts | shafts rotating at ToIT 39T AT | e & forw 39ier | R, sy emore
slow speed EIcIE frar Srar g T a1fa & goie
11|Where flange coupling is used? Used for non- | Used for collinear Flexible Used only on small [FelsT hafereT gl 3UITT fohdT ST 872 AP | PINAAX ATFT & EEIERCR had BIC ATFE ] B 1
collinear shafts shafts shafts e & forw 3uater | forw 3uater far 3TN FAT AT &
farar Srar & ST &
12|What is muff coupling? Is a simple type | Is a simple type of | Is used for non- | Is used for non- [Hel ATl T &2 T AT T8T | Teh Tl TR Al | FI-CololT ATHC o | ATe]-hl-CelelT ATHE A 1
rigid coupling flexible coupling aligned shafts coplanar shafts RSz Fufcar g | wafdaas sufeer | fow suaer frar | & fore 3uter frar
g EICIES EIGIES




Name of the Trade : Draughtsman Mechanical 2nd Sem - NSQF - Module 10 - Construct - Bearings

# Questions Opt A Opt B OptC OptD Questions Opt A OptB OptC OptD Ans Level
1|What are the rolling contact bearings? Thick lubricated Plastic bearings Thin lubricated Antifriction bearing [JiforeT FIeaFe ST F41 §2 F s oaRer | comiRes ke | R ofehe oaRRer | ot Bhaere foaRer D 1
bearings bearing
2|Which of the following is an antifriction Journal bearing Pedestal bearing Collar bearing Needle bearing  |A&IfAfEd & @ et &1 Tk TENHIRIT STeTol ST ysTed foaRaT FloR foraRaT Arser feaRer D 1
bearing? fafier g2
3[Where deep groove ball bearing is used? Small angular Combined thrust | Radial load at high [Heavy trust load only|3TT 3[4 STel ST T 3UANIT &gl [hAT | ATFS T BT HIVNT | 3o I W TG Fd | 3o A W ATl | el dNT IEC oA1s B 1
displacement of | and radial loads at speed ST 82 aeageT YFEHT 3T ST IS
shaft high speed AR
4|What is the angle of contact of the bearing 360° 270° 180° 120° DA STelol QAR H, STeTol o TTY AR 360° 270° 180° 120° A 1
with journal, in full journal bearing? & TYSH HT HIOT FAT &2
5|How does the load acts in trust bearing? Along the axis of | Parallel to the axis |Perpendicular to the Al direction e [SaReT & IR 8 I AT g AT T &8 o6 A1 | ACAT T & b e 1 ¢l o oY oY fGem & A 1
rotation of rotation axis of rotation HATATAY olgad
6|Why Teflon is used for bearing? Better heat Low coefficient of Smaller space High coefficient of |TSIR3T & ToIT SWHelleT T STAATS FAT R gic f3fa9ersT | o907 &1 # UM | TATS TIH HHESIA | TY0T &1 3T 0T B 1
dissipation friction consideration friction Farsmarg
7|Which metal suitable for bearings subjected Silicon bronze White metal Monel metal Phosphor bronze |gele #IR & ToIT STAATH gl dTel [SIRaT aforele sttt arse Acd Al Acol HIEERR Siloof D 1
to light load? fFaugFaagas?
8|Which of the bearing is performed for Double row roller Trapped roller ~ [Needle roller bearing| Angular contact  |37RelTeaT REUTAT & forw hlet & fARFT | 3ol A Ao fogRer | greus UeR AR | Aiser AR faRer | TopoR Hrese e C 1
oscillating conditions? bearing bearing single row ball |3 EJATe TR SATAT 872 A ater fogRar
bearing
9|What is the coefficient of friction in a roller 0.1 0.2 0.01 0.001 Teh QAfeleT 7 EUT T T[0T T 52 0.1 0.2 0.01 0.001 C 1
bearing ?
10|Which type of gear train used in automobile Simple gear train Compound gear Epicycle gear train Worm gears IS PR d9fad H 7T TR Hr {uel R & FFq3s R e | vEsd PR & EERTIPE B 1
gear box? train R T &7 39T R ST 87
11|What is the material of Ball Bearing? Low carbon steel |[Medium carbon steel| High carbon steel | High speed steel |ater S=Rer Fr Tl Fa1 82 ot STeleT T HZTA FIT Tl | 8T8 el 3TaTd TS T8 Trol B 1
12|Journal bearings are the example of Flexure bearings | Anti-friction bearings| Friction bearings Jewel bearings  [STeTel SIIRAT I 30T & FATFEIR SIRET | el eor SaiRer YT FITRAT el fSgRer C 1
13|Which one of the bearings caries axial load | Angular contact ball [ Needle bearing Roller bearing Thrust bearing  [SaREN & @ i a1 38T 7R & 1Y- IO FTh el EIECKIR UeR TaTRaT e feaiar D 1
as well as radial load ? bearing Ty BT HR T SGHTT FAT 872 IERIET
14(Loads applied parallel to the axis of the thrust loads axial loads concentric loads central loads 31T T T o FHATATAR o917 31T R T i 37&TT MR ITET AR T ol A 1

bearing are called

FEI STl &

=




Name of the Trade : Draughtsman Mechanical 2nd Sem - NSQF - Module 11 - Construct - Gears

# Questions Opt A Opt B Opt C Opt D Questions Opt A Opt B OptC Opt D Ans Level
1|Which one is maximum gear ratio? Super gears Helical gears Bevel gears Worm and worm  [ATFEHHA =X 34T hieT A1 572 g 7y giotehel PR EECREIRE ¥ IR I e D 1
wheel
2|Where is cycloided profile gear are used? Automobiles Air crafts Machine tools Watches and clocks |ATSFdigs WHISel a2 ST 3UATIT el JTIAETS AT T HIFCH AMA ol arg 3R Fllh D 1
forar Strar 87
3[The point of contact of two pitch circles of Pressure point Pitch point Module Contact point et FR & & T gelehl & §Uh &7 [ag EEIEREE o fog AT {9 oG B 1
mating gears is called... FET AT ...
4|What is the purpose of idler gear? Change the speed of | Make the model | To increase strength | Change the direction |3T$SeR PR &I 3662 &1 2 i afd gl | ST & [T AISSl | dTohc] 96Tl & [T | 2T hT SRARRAT D 1
rotation harder to build of rotation FI HiSeT FATT FI dcol
5|What is called number of teeth on a gear Module Diametric pitch Circular pitch Pitch g T o uia egiel U graT T a&dT AU IIHCH I g oR O IEE] B 1
per unit of its pitch diameter? T FIAT gl ST &2
6|Which gear is used to convert rotary Worm and worm Rack and pinion Spiral bevel gear Spur gear Thdr TaT2 T 3TTT AT A2 Y A 3R T A & IR AT | Turstd g R TR R B 1
motion into traslating motion? wheel TR AT H el oh Toll fohdT ST
Hehl 872
7|What do you call when train of more Gear train Gear group Gear series Gear team SIS 3iTereh I T T halTSet &1 SiTeh & ot R ¢t TRR 978 TRIR s@germ R & A 1
gears are combined? 31TY T g 87
8[Which gear train is used for higher Simple gear train Compound gear | Reverted gear train | Epicyclic gear train  [Teh ®IET HI 51918 H 3T 997 3197 & folw A9l TR ot FHEq13s TR oA RaczsfR e | vhasFes R D 1
velocity ratio in a small space? train g TR SoT T 39T fohdT AT 672 &
9]What is the ratio of the pitch diameter to Module Circular pitch Diameter pitch Gear train O =arg /a7dT S §E&AT & AU FT & HAigud g oR T e T PR ¢t A 1
the number of teeth?
10|Which type of gear are performed for low Spur gear with Bevel gear Spur gear with an Helical gear A AN TIAM & T fhd TR & [T [HISTFATTS NHTSeT & ad IR Zdlegc MBS giorhel TR D 1
noise applications? cycloid profile involute profile T YeeTeT fohar SITaT &7 Yy TR R qry TR R
11|What is dedendum in spur gear? Outside diameter Inside diameter Module Pitch TR TR & SAssA FAT 82 3M3CHTSS SIAIY | §A9188 STIHICT Argue Sl B 1
12|What is addendum in spur gear? Inside diameter Outside diameter circular pitch Pitch circle diameter [TUX FTIIR & 31338 FaT18? ZIOTSS SIHICY | 3T3cAT8s STIHE g oR O T Afehel M8 B 1
13[Why stub teeth are cut on gears? Increase capability to Reduce noise Improve Reduce centre TRR R T dT FA Fegld ¢ - e AR HUT T ERY HROT &TAT H gUR | Qe [Seca A | A 1
withstand shocks and transmission distance ST Y &THT ETy
vibrations efficiency Er1y




14|What are the minimum number of teeth 8 teeth 10 teeth 12 teeth 16 teeth 20 ° YRR 0T & 1Y FeTdlod [T A il 8 ard 10 g1 12 g 16 g
in involute gear with 20° pressure angle? aﬁrﬂmmw%?
15|Which gear is suitable for two shafts at Spur gear Bevel gear Helical gear Rack el AT TR ST WIS T &F ATFC o [T TR R 3ae TR giorerat TR &
right angle? mﬁ%
16]Which gear is herring bone gear? Bevel gear Spur gear Double helical gear Helical gear HITAT PR, g7 i 913K &2 aol TR TR R S gloldhel PR CER RO
17|What is the result of low pressure angle Stronger teeth Weaker teeth More power Less interference  |al 92K TaTel IR &7 TROTH T 52 EledT ST qrhT YT STET 9ral FH gEALT
gear?
18|What is a miter gear? Right angled bevel Helical gears of Gear of different Kind of worm and  [FATSeX R Far §2 ASC WA AA ST | ThgiAggelsh | fafde Algged | a3 AR ao gred hr
gears having same same module module worm wheel g s giar fir RGELREIEEY EIREY T bR

number of teeth

&I AT &




Name of the Trade : Draughtsman Mechanical 2nd Sem - NSQF - Module 12 - 2D Auto CAD - Introduction of Computer, CAD

# Questions Opt A Opt B OptC OptD Questions Opt A OptB OptC OptD Ans Level
1|Which of the following memories needs SRAM DRAM ROM Memory register [Tl & @ i AT AARIST T ROBTAIT SRAM DRAM A AANY S B 1
refreshing? FeT FI HTTLTRAT &2
2[Which of the following for printing of high Dot matrix printer Digital plotter Line printer Inkjet printer |3 3 UTa aTel CAD Tl¥e# 38T 3iR 3lc Afead X S waiex ST e Seholc THeX B 1
qualities CAD system drawing and graphics ? afhera & FguTas fore Arafaf@a A a =l
arg?
3|What is a software in computer? Enhances the | Increase the speed | Semiconductor Increase memory |HTFEI H Teh AIFCAI FAT 572 EE R AT GTAABN A | CPUR TN H | Jo-dsFel AANY | SoTshrd AARY A 1
capabilities of hard of C.P.U memory orar g Jerar g
ware
4|Which language is directly understood by the | Machine language | Assembly language [High level language | Low level language [F13IT#H gréele [T foalT Sheged ganT dre ERICEI 3Tell {7 TS oIdel HTST @ ofdel $TST A 1
computer without translating programme? ToRET HTNT T THST SATAT §72
5|Printer resolution is measured by the number Character per Dots per inch (dpi) | Pages per minute Spots per X Rfteg e RN TEIT A AN | g7 9fd A3 (cps) | 3ied 9fa 3 (dpi) | 9=T ufd Bte (ppm) [T afa e | B 1
of second (cps) (ppm) centimeter (spc) |STaT (spc)
6[Instructions and memory address are Character code Binary codes Binary word Parity bit A IR AAT T ... gant HFH PIS A I EIECRIEE] IR fae B 1
represented by T SArar g
7|What is CD-ROM? Semiconductor Memory register | Read Only Memory|  Primary and CD-ROM &7 8?2 THIhEF AART HANY e FTAleH AANY | UBAd AR AR | C 1
memory secondary memory
8|What are the two kinds of access memory? Primary and Random and ROM and RAM Primary and AARY &1 IR T gl 872 I 3R Ahsyl | EA MR A@aFdweral | ROM 31k RAM sy 3R B 1
secondary sequential sequential AeFaeerer
9[Which of the following storage devices can Floppy disk Hard disk Compact disk  [Magnateo optic disk|fE=TTAT # T et A1 TR [2a5d FoATdY BT gTs B35 Fredec 3Th FIlc 3iifcesh B 2
store maximum amount of data? 37T AT # 3T TR F TohdT &7 IEp=
10|Which standard is used for converting the ANSI ASCII EBCDIC ISO TS HTeTeh T 3TN fehegieh &Y Fafard ANSI ASCII EBCDIC ISO B 1
keystroke into the corresponding bits foca # aRafda = & fav Rar smar g
11|Which of the following is internal memory? Disk ,Pen drive Pen drive RAM CDS TAFATAREAT & & el AT STl AART §- 3% U 3189 9o 315d RAM CDS [® 1
12|What is a byte? One bit Four bits Eight bits Sixteen bits Teh 915 FAT 8 ? & ¥ IR f9e 376 o Alelg faca C 1
13|Which is considered a direct entry input Optical scanner Speaker Light pen Key board SR UG 3oT9c f3arsd fohd AT STl 672 JTTCeahel TohelR T Gl Hrars D 1
device?
14|Which of the following is not performed by Inputting Processing Controlling Understanding  [Fcge &aRT &1 & & et & Felel gegqfeal AT Helfeldl TR D 1
computer? ERRCRIRSIGIN
15|Which of the following is not a micro Laptop Tablet Desktop DRAM AT H & hlel AT ATSHT HYCX gl RG] [CETA 3THeIT DRAM D 1
computer? g7
16|Which of the following is not purely output Scanner Printer Speaker Plotter AFIef@d 7 & it Y &7 8 13T TohelX X T TAlex A 1

device?

TSarsH =gl &2




Name of the Trade : Draughtsman Mechanical 2nd Sem - NSQF - Module 13 - m2D Auto CAD - Co-Ordinate System

# Questions Opt A Opt B OptC Opt D Questions Opt A Opt B Opt C Opt D Ans Level

1|What you can't create from the offset Vertical straight Concentric circles Parallel lines Parallel arcs 3719 3THAC HATS T FIT T51 ST ohd 87 FéThel TeT Follecdh Tohed et el a8y ReTeT 3TFT A 1
command?

2|What does UCS in the context of CAD mean?| User coordinate United CAD software Unite, cut and Universal CAD CAD & TeaT & UCS EIWW}T%?%? User coordinate United CAD Unite, cut and select| Universal CAD A 1

system select setting system software setting

3[In 2D drawing space, which axis do you not X Y z WCS 2D # 1S Il THY, 31T foha 3787 & A1 X Y z WCS C 1
work with? HTH AeT I 872

4]What symbol shows the object snap pointto | With circles and With two triangles With tracking With diamond  [&1d foig eed# g &1 71 genar £ Fg A Tohed AR e E R R R R e ISP GEE RIE] C 1
the closest point ? dots in the centre vector gicd & ATy

5|What is the use of computer to control the CAD CAE CAM CAQ 3cuTee AfshdT & FelTelel bl AT 3 & CAD CAE CAM CAQ C 1
operation of production process? forT ey e 1 3uheT 7T 872

6|Which state grid use to design perspective? Parametric Isometric Prooptic Rectangular el AT T 1313 HT 3T T Fed BoASd & WRACH msaAeH qqfesh IR B 1

e fRar Srar g 2

7|When drawing a line using the relative 0.0 Co-ordinate with The beginning Co-ordinate with ~ |STef ATUTeleh HH=GZ YOI T ITFNT Flch 0.0 Tog Y& ¥el o faT | 3ifcier afed &1 3R | 3cufey & daer & B 1
coordinate system the end point will be respect to start point [point of the last line| respect to origin  |Te 3T Wit 3ifdA foig g FEATA o A1 fig TqH-TT FL
7 HeaT Y

8|Which is used in computer architecture for Mainframe-based |Microcomputer-based | Minicomputer- | Work station-based |CAD / CAM 392131 & foIT shegex ATHH-3TUTRA ASH FYR | Ay 3R [T Terai-3maiRd | D 1
CAD/CAM applications? system system based system system G ol H TrEeRT 3TN T STl &2 EICH 3R JoTTell EICH YTl

9|When setting out a mechanical drawing in Fractional Decimal Architectural Metric 31T CAD H Teh I1T3eh 1591 T FId RIEED SHT 3TfeheFR wifew B 1
auto CAD, what units should be set? THI, FIT SHISTT TATTAT T AT ATT?

10{Which command converts discrete objects to Union Subtract Join Polyline FleT TY HATS [SThIC Heolded Hl Alelellged g Hedae SarssT ECIGIEG] C 1

polyline?

# gRafda w2




